
Διάρκεια

 (ημέρες)

A - 3

B A 6

Γ A 4

Δ B(fs-1), Γ(ss+3) 2 Προσοχή! Ισχύει πάντα: TF>=FF>= 0
Ε Β 5

Ζ Γ(fs+4) 7

Η Δ(ff+1), Ε 2 Διάρκεια έργου      

Ενωρίτερες ενάρξεις

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 TF FF

Α 0 0

Β 2 0

Γ 0 0

Δ FF FF FF FF FF 7 5

Ε 2 0

Ζ 0 0

Η FF FF 2 2

Βραδύτερες ενάρξεις

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
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Διαδρομή 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 Διάρκεια

ΑΒΕΗ Α
Β
Ε
Η 16

ΑΒΔΗ Α
Β fs-1
Δ ff+1
Η 11

ΑΓΔΗ Α
Γ
Δ ss+3 ff+1
Η 9

ΑΓΖ Α
Γ
Ζ fs+4 18

Δραστηρι

ότητα

Αμέσως 

προηγούμενες

A,3 

Η,2B,6 E,5

Δ,2

Γ,4

ΠΕΡΑΣΑΡΧΗ

Ζ,7

fs-1

fs+4

ss+3

ff+1


